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1) Find the horizontal asymptote of the graph of each rational function.
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2) Describe the points of discontinuity (vertical asymptotes and holes) for the graph of each rational function.
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3) Sketch the graph of each rational function by finding VA, HA, Holes, X-intercept, and Y-intercepts.
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Multiply, divide, add or subtract to simplify each answer. Write the answer in simplest form. State any
restrictions on the variables.
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Solve each equation.
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18) While driving down Woodward, Tyler can drive 7 miles North tn-the-same time it takes him to drive 6 miles South.
His rate of which his speedometer shows his car moving is 45 mph Find the speed of the wind current that is

causing him to drive slower going south.
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19) Working together, it takes Cassidy, Carson, and Giada two hours to paint one room. When Cassidy is
working alone, she can paint one room in 6 hours. When Carson works alone, he can paint one room in 4

hours. Determine how long it would take Giada to paint one room on her own.
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20) Write an equation in factored form for each graph.
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